SCIEN"= 8 EXAM REVIEW PACKAGE! NAME:

@)al = Test your understanding of Unit 1, Cells and Systerné, i

1. What are the structures ms»de of a fiving cell that have specnf cfuncﬂons'?
A. organs
B. systems

embranes

rganelies

2.If you were companng a cell to a home, what part of the home wouid best describe the

C. haliway
D. kitchen

3. Which of the following structures does a plant cell have that an animal cell'does not?
A. cytoplasm

5 ribosome

; chloroplast

D endoptasmic reticulum

4. Which of the following best describes cellutar respiration?
lucose + oxygen - carbon dioxide + water + energy
glucose + oxygen + energy = carbon dioxide + water
C. carbon dioxide + water > glucose + oxygen + energy
D. glucose + carbon dioxide - oxygen + water + energy

5. The Golgi body sorts proteins and packs them into membrane-wrapped structures calied
A. ribosomes

vacuoles

esicles

. lysosomes

6. Which of the following descriptions of the cell wall is false?
A ttough, rigid structure found inside the cell membrane

. protects the cell

C provides support for a growing plant

D. helps give a piant cell it shape

Continued on next page
7. Which of the following best describes photosynthesis?
A. carbon dioxide + oxygen + energy > glucose + water
B, glucose + oxygen + energy -> carbon dioxide + water
rbon dioxide + water + energy > glucose + oxygen
D. glucose + carbon dioxide - oxygen + water + energy

8. Which system is responsible for transporting oxygen and nutrients around the body?
A. respiratory system .
B. endocrine system
. nervous system

23. Mixed connective tissue disease is an affliction where a person’s immune system attacks and
destroys their own connective tissue.
(a) What is the role of connective tissue in the body?

24. There are many “fad diets” that advise cutting certain things out of your diet. It is usualiy not a
good idea to abandon a well-balanced diet. Suppose a “fad diet” cuts proteins completely out of
the daily diet. Why wouid cutting protein out of your diet be dangerous?

27. Cafcium is a required nutrient for your body.
(@) What type of nutrient is calcium?

9. If your bronchi became blocked, which body system would be most directly affected?
A. circutatory system
B. nervous system

xcretory system

-~ respiratory system

10 ich of the following terms best represents a disease-causin
athogen
antigen
C. antibody
D. plaque

Match the Term on the left with the best Descriptor on the right.
Each Descnptcr may be used only once.

o Tem \ . - Descriptor

11.gastric juice
12-fine-focus-knob~
13.bile
14.gyepiece:
15.revelving-nosepiece
16.:stage>
17.pepsin

18.base
19.chyme
20.coarse foeus-knob-

. holds the three objective lenses
brings an object into focus at high power
. supports the entire microscope
breaks down fat into small droplets
brings an object into focus at low or medium power
is used for viewing and contains a iens that
magnifies
. digested intestinal contents
. contains hydrochioric acid
supports the slide
breaks down protein
. important for clotting blood
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Continued on’next page
Short Answer Questions :
21. Human red blood cells placed into a strong salt solution rapidly shrivel, while those placed in pure
water swell and explode. Explain why this occurs.
. . % B 2

29. Around the year 1800, Edward Jenner deiiberately infected a boy with cowpox in order to give
him immunity to the more serious disease smalipox. How is what Jenner did similar to and
different from today’s modern vaccmes7

30. inrare cases, a baby is born with a defective immune system that is incapable of producing B
cells. Explain exactly why the lack of B celis wouid € gn immune system to be, defective.

K Goal -« Test your understandiné of the concepts in Unit 2.

1. Which describes the wavelength of a water wave?
A. the height of a wave crest above the wave trough
JS.% the height of a wave crest above the rest position of the wave

G, the distance from one point on a wave to the same point on the next wave
“. the number of times per second that the crest of a wave passes a fixed point

2. The complete range of all wavelengths of radiant energy is called
A. the visible spectrum
B. the invisible spectrum - % R
. the colour spectrum
g D i the electromagnetic spectrum

3. A mirror changes the direction of a ray of light in a process called
A, diffusion

B, refraction
{ CJ reflection
. absarption

4. Ultraviolet rays are electromagnetic rays associated with
A. heat
B. light
. radar
{DJsunburns
gl

5. The ray model of light explains why shadows formed in sunlight have sharp edges. This is because

§§ light rays travel in straight lines
“B. the angle of incidence equals the angle of reflection ﬁﬁ\i

C. the light rays spread out as they travel

D. the fight rays are blocked by objects between the light source and the observer



6. In a transparent material, the light rays
A. are absorbed and no clear image is seen through the material
e B. are scattered and no clear image is seen through the material
?@ ”ﬂ . are transmitied without scattering but no image is seen through the material
- %;%}are transmitted without scattering and a clear image is seen through the material

7. When light rays pass from water into air,
- A. they bend toward the normal as they move into a inaterial with greater density
B. they bend away from the normal as they move into a material with greater density
C. they bend toward the normal as they move into a material with lower density
@hey bend away from the normatl as they move into a material with lower density

\W)
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8. Light rays that are made to come together to a point after passing through a lens are described as
A. merging
B. diverging
C. conjoining
gb}oonvergmg

9. The lens in a healthy living human eye is
A. opaque and hard
B. opaque and flexible
G, transparent and hard
{Dgtransparent and flexible

10 Mear-sightedness is a vision problem that
' makes it difficult to focus on nearby objects
{B,] makes it difficult to focus on distant objects
C. causes multiple blurry images of an object to be seen
D. allows a scene to be clear directly ahead but the edges of the scene are fuzzy

Match the Term on the left with the best Descriptor on the right.
Each Descnptor may be used only once.

. part of the eye that does most of the focussmg

. atransparent material that can focus light

. all waves transfer this

. the shape of a lens or mirror in which the surface bends

A
B
C
2 1 D.
. lens inwards
16. fransiucent | E. the height of a wave
17. astigmatism | F. permits light to pass but the image is not clear
G
H
|
J

. amplitude
. energy
. refraction

. causes several fuzzy images to form on the retina
. the length of a wave
connects the retina to the brain
. transparent part of eye surrounded by the iris and which
appears to be black
K. the shape of a lens or mirror in which the surface bends
inwards
L. the bending of light as it passes from air into glass

18. comea
19. pupil
"I, 20. optic nerve

| Goal * Check your understanding of Unit 3, Fluids and Dynamics.

1. Which of the following statements regarding particie theory is false?
A. Particles that make up matter are always moving.
. All matter is made up of very small particles.
éAII particles are attracted to one another with equal-strength.
D. There are spaces in between particles.

2. How wouid kinetic energy be best described?
the energy of motion
B. the energy of friction
C. the energy of gravity
D. the energy of change

e

3. What are you calculating if you divide the mass of a substance by its volume?
A. weight

‘ pressure

€ $buoyancy

@ density

4. Afigure skater jumps into the air to perform a jump. At the end of the jump, the skater comes
back to ice, and his blades cut into the ice. Which two types of force are most evident at the end
of the jump?

friction force and gravitational force
B. gravitational force and tension force
C. electrostatic force and gravitational force
D. elastic force and friction force

§. On very cold winter days, water vapour in the air can turn directly into a solid and form frost on
the inside of windows. Which of the following changes of state occurs when frost forms on a
window?

A. subiimation
@deposition
C. condensation

D. solidification

6. Which of the following statements regarding a cyclist riding through a park is false?
A. There is friction between the tires and the road.
B. Air friction exerts a force against the motion of the cyclist.
C. When forces are balanced the cyciist continues at a constant speed.
When the cyclist is siowing down, forces on the cyclist are balanced.
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21. Draw a skeich ffa light wave. Label the amplitude, wavelength, trough, and crest.

f < N
%@%@ %@%%%ﬁ@ %a%fﬁégﬁ

22. Calculate the frequency, in hertz, of each of the following:
(a) the tic- toc sognd of a wind up clock, which starts a new sound 60 times in one minute
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b) a heart rate of a cychst which beats 300 times in 100 seconds
i

) 6

(c) the frequenc¥ ofua yvater wave, which laps up on the shore 6 times in one minute
Wl é"”“” /

23. For each of the following parts of the invisible spectrum, list one way in which the radiation is used
to create some sort of image.

(a) X rays oye 2 %ﬁg}m@’sj ¢
(b) infrared rays i1 %%;ﬁ m %‘Eg% é %t‘a I8
yadar!

(c) microwaves

26. The rear view mirror of a car on the passenger side usually has this waming: “Objects in the
mirror are closer than they appear.”
(a) Sketch and label the kind of mirror used i |n thls 3 ?ﬁatlon

\’j %ME% . u% J Lmif&% W/

(b) Identify one other commor; use for this type of mur r

SOLUYITTU A WYES
J]
27. Draw a sketch of a human eye from the as viewed from the front. Label the iris, sclera, pupll ? ff}a‘} g g?

50 Shnall Cobodr white

28. A swimmer uses goggles to see clearly underwater. Explain why the goggles are needed to see
clearly underwater and why objects, appeagfuzzy if the goggles are removed. %

% *m M% W%%&i?m

7. Two different tennis balls (one filled with air, one with water) are struck with the same amount of
force. The tennis ball filled with air can absorb much more force than the simitar tennis ball filed
with water. This is because

air is compressible, while water is not

force of gravity is greater on the water-filled tennis ball
C. air is not compressible under ordinary circumstances
D. the forces on the air-filled tennis ball are more out of balance

8. A child throws a solid rubber ball and it bounces back up from the ground. Why?
A. The solid rubber undergoes compression.
The ball deforms and stores elastic energy.
C. Friction and electrostatic energy are released.
D. The force of gravity drives the ball back upward.

9. What causes your ears to pop when you gain or lose altitude quickly?
a difference in air pressure between the middie ear and the surrounding air
B. a decrease in air pressure in the brain
C. Pascal's principle
D. iiquid in the ear striking the eardrum

Match the Term on the left with the best Descriptor on the right.
Each Descrlptor may be used only once.

7 Femm Desctiptor:
11.cohesion K . hurricane
14.adhesion change from gas to liquid
15.high viscosity high flow rate

7 16.low viscosity ﬁ 5
18.condensation ?;
19, sublimation "

20. solidification Lﬂ

change from solid to gas

Jaws of Life®

vacuum cleaner

. change from liquid to solid

iow flow rate .

. water droplets on & spider web
. change from liquid to gas

. surface tension

Re-rIEMMUOT>

Short Answer Questions

21. Explain the differences amo)

Sol 1& ﬁ 1%L
12 Contmin a* -F‘*f 2Zq
a4 Yondom .

22, Llst three main points of the k| etic molecular theory
s 'Yy :

g & solid, quuld and gas in terms of shape and volume.




30 Solve the following problems:

(a) A 40 cm® cube of pure nickel is measured by a student (o have a mass of 356 g. What is the

density of the nickel? @g@% @ f&mg

{b) A 200 mL sample of alcohol has a mass of 158 g

/Mhat is t%p density of the aicohol?

(c) A football player with a weight of 125 kg stands on a &ﬁgm by 0.5 m scale. What pressure
does the platform of the scale exert on the s;?g below? ?}

(d) The bottom of a woman’s shoe heel measures 0.02 m by 0.04 m. If the woman with a weight
of 56 kg balances on a single heel, what pressure does she exert on the ground below?
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